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What is advertisement budget ? Explain various methods which determine
advertisement budget. 14
OR

Explain the importance of advertising in modern period and discuss socio-
economic effects of advertising.

Select the correct option : 4
(1) Generally advertisement budget is made for

(a) one year (b) two years

(c) three years (d)  five years

(2) Objective and task method is a Scientific method of advertisement budget.
(a) True (b) False

(3) In the method of fixed percentage of sales for determining advertisement
budget, only present sales can be considered.

(@) True (b) False

(4) Advertising cost means publicity cost.
(a) True (b) False

Explain pay-back period method and discounted cash flow method of capital
budget with their advantages and limitations. 14

OR
Explain in detail the internal and external sources of supply of capital.

Select the correct option : 4

(1) Earnings can be retained so long as they can be invested at a return higher
than the company’s cost of capital.

(a) True (b) False

(2) Internal rate of return method is the method of evaluation of various
investment proposals.
(a) True (b) False
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(3) Pay-back period method of capital budget considers depreciation and taxes.
(a) True (b) False

(4)  Which of the following is internal source of supply of capital ?
(a) Debentures
(b)  Shares
(c) Depreciation fund

Explain break-even analysis with diagram and illustration. Discuss its usefulness. 14
OR

Explain the concepts of average cost and marginal cost and discuss the
relationship between them with the help of illustration and diagram.

Select the correct option : 3
(1) Variable cost is also called
(a)  Supplementary cost (b) Prime cost

(2) Suppose a firm’s fixed cost is ¥ 4,000, variable cost is ¥ 300 and selling
price is ¥ 400. What will be the contribution ?

(a) %100 (b) Z3,600
() 3,700 (d) %3,900

(3) Incremental cost has relation with the change in total cost as a result of the
decision taken by the firm.

(a) True (b) False

What is inventory control ? Explain EOQ model of inventory control. 14
OR

Explain the classification of inventories, advantages of carrying inventory and
relevant inventory costs.

Select the correct option : 3
(1)~ What is the slope of curve showing the cost of waiting customers ?

(a)  Positive (b) Negative
(2)  First-come-first served or last-come-first served is an example of

(a) dynamic queue discipline  (b)  Static queue discipline

(3) In ABC method of inventory control, the goods are classified on the basis of
their annual consumption value.

(@) True (b) False
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1. (A) Give the meaning of Cottage and Small Scale Industries & explain the importance

(B)

2. (A)

(B)

MP-145

of Small Scale Industries in economy of India. 14
OR
Evaluate the role of large Scale Industries in economic development of India.

Choose the correct option : 4
(1) Inthe SSI units, the S.W.S stand for .

(a) Single Window Scheme

(b)  Social Welfare Scheme

(¢) Supplementary Welfare Scheme

(2) In October 2006, the investment limit of Small Scale Industries was set to

(a) 3 crore (b) 4 crore (c) Scrore

3) goods of production are reserve for SSI units in the Industrial Policy
of 1991.
(a) 836 (b) 636 (c) 832

(4) “Cottage industries means mainly run by collective labour of family
members” — this statement is

(a) False (b) True (c) None
Evaluate the Industrial Policy of ‘1956’ of Indian Government. 14
OR

Evaluate the Industrial Policy of ‘1991’ of Indian Government.

Choose the correct option : 4
(1)  The first industrial policy in India was declaredin _ year.
(a) 1956 (b) 1948 (c) 1950
(2) The large and key industries were prioritized in __ industrial policy.
(a) 1950 (b) 1977 (c) 1956
7 P.T.O.
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3) institution is working to re-establish inefficient and sick units in
Private sector.

(a) MRTP (b) FERA (c) BIFR
(4) M.O.U. stands for .

(a) Monopoly of Unit

(b) Memorandum of understanding

(c) Memorandum of utility

Examine the trends of Industrial development in India in the last two decades. 14
OR

Comment on the concepts of privatization and decentralization in the context of
industrial development in India.

Choose the correct option : 3
(1) The period of the Second Five Year Plan is knownas

(a)  White Revolution

(b)  Green Revolution

(c) Industrial Revolution

(2) In India the period after 1991 was considered as the period of
(a) Economic Reforms
(b) Industrial Development
(c) Agriculture Development

(3) When the Government handover some shares of public sector enterprises to
private sector, it is called the process of

(a) Liberalization (b) Disinvestment (¢) Globalization
Mention the characteristics of Individual firm and Partnership firm. 14
OR

Explain Prof. Baumol’s Sales Revenue Maximising model.

Choose the correct option : 3
(1) Law of partnership firm has been implemented from
(@) 1932 (b) 1922 (c) 1912
(2) Minimum members of Private Company are
(a) Three (b) Four (c) Two
(3) Profit is necessary to satisfy the shareholders in the Williamson’s
model.
(a) Minimum (b) Maximum (c) Zero
8
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1.  (A) Give the definition of Entrepreneur and discuss the main functions. 14
OR
Give the meaning of entrepreneur and its characteristic.
(B) Choose the correct option. 4
(1) How the word ‘Entrepreneurship’ came into Existence ?
(a) Entrepreneur (b) Risk (c) Innovation
(2) Who generates new opportunities ?
(a) Manager (b) Capitalist (c) Entrepreneur
(3) Person Managing in a business
(a) Manager (b) Capitalist (c) Technocrat
(4) The profit is , generated from innovation.
(a) temporary (b) permanent (c) for short time
2. (A) Evaluate the entrepreneurship on risk and uncertainty theory of Pr. Knight. 14
OR
Evaluate the innovation theory of Pr. Schumpeter.
(B) Choose the correct option : 4
(1)  Which economist said-an entrepreneur is ‘an Engine of development’
(a)  Knight (b) Peter Drucker (c) Schumpeter
(2)  Which theory given by Harvey-Leibenstein ?
(a) X-efficiency (b) Social theory (c) Psychological theory
(3) How many types of risk are there ?
(a) Two (b) Three (c) Four
(4) In which Economy, there is a scope of innovation ?
(a) Static (b) Dynamic (c) Both (a) and (b)
MP-145 11 P.T.O.
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OR

Explain the role of Entrepreneurs in the generation of employment opportunities.
Choose the correct option. 3
(1) Is economic development single side process ?

(a) Yes (b) No (c) None of these
(2)  Which types of change is Economic development ?

(a) Qualitative (b)  Quantitative (c) Both (a)and(b)
(3) Is an Economic development a Problem of developed countries ?

(a) Yes (b) No (c) Developing countries
Discuss the importance of small and cottage industries. 14

OR

Discuss various financial institutions giving finance to industries.
Choose the correct option : 3
(1)  Where is the main office of Gujarat State Finance Corporation ?

(a) Ahmedabad (b) Baroda (c)  Surat
(2) When NABARD was established ?

(a) 1982 (b) 1975 (c) 1985
(3) In which district of Gujarat EDI is situated ?

(a) Gandhinagar (b) Rajkot (c) Surat
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